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Q1
Exhibit:

A network administrator is migrating from IPv4 to IPv6 and one of the I1S-IS adjacencies is not coming up between R1
and R2.
Which action will solve the problem?

A. Configure an IPv4 address on interface ge-0/0/1 on R1.

B. Configure topologies ipv4-unicast from protocols isis on R2.
C. Remove topologies ipv6-unicast from protocols isis on R1.
D. Remove topologies ipv6-unicast from protocols isis on R2.

Answer: A

Q2
JNO0-663 Exam Dumps JN0-663 Exam Questions JN0-663 PDF Dumps JNO0-663 VCE Dumps

https://www.braindump2go.com/jn0-663.html



https://www.braindump2go.com/
https://www.braindump2go.com/
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/jn0-663.html
https://www.braindump2go.com/
https://www.braindump2go.com/jn0-663.html

"*\BraindumpQ

Fist Try, FirstRuss| Braindump2go Guarantee All Exams 100% Pass

One Time!
Exhibit:

[edit routing-instances vpn-—x]
user@routerf{ show I

instance—type 12vpn; | il
interface ge—-1/0/1.513;
interface ge—-1/0/1.512; I
route—distinguisher 192.168.1.2:1;
wvrf-import| import-vpn-—x; |
vrf—export export-vpn—x;
protocols {
12vpn {
encapsulation—type ethernet-vlan;
=ite c=-a | I
site-identifier 2;
interface ge—-1/0/1.512;
interface ge—1/0/1.513:;;

You have the Layer 2 VPN configuration shown in the exhibit. You are asked to determine the remote site ID for ge-
1/0/1.512.
In this scenario, what is the remote site ID?

oCow»
Al wo

Answer: C

Q3
Exhibit:
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usex@host# show protocols ospf
area 0.0.0.6 {
nasa {
defaulc—-laa {
default-metric 10;
metric-type 1;
type-7;
}
no—summaries;
area-range 192.1€8.16.0/20;
}
}

Referring to the ABR configuration shown in the exhibit, which three statements are correct? (Choose three.)

A. The ABR advertises a default route to the NSSA using a Type 7 LSA.

B. The ABR advertises a single Type 5 external LSA to the backbone area for all Type 7 LSAs in the NSSA.

C. The ABR does not summarize any routes within the 192.168.16.0/20 range.

D. The ABR advertises a Type 5 external LSA to the backbone area for each Type 7 LSA in the NSSA.

E. The ABR advertises a single Type 3 summary LSA to the backbone area for all Type 1 and Type 2 LSAs in the
192.168.16 0/20 range.

Answer: A, D, E

Q4
Exhibit:

gy L (L ES1 00:00:00:00:00:00:01:01:01-01

Referring to the exhibit, traffic sent from CE-A2 to PE3 does not loop back to CE-A2 through PE2. Which two EVPN
functions accomplish this task? (Choose two.)
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A. split horizon

B. aliasing

C. multicast ingress replication
D. designated forwarder election

Answer: A, D

Q5
Exhibit:

i AS10 i
BGP Route % IBCP %
R2

10.222/16

i % i EBGP
R5 % il % R6 R8 %@% R9

AS20 AS30

Referring to the exhibit, which three statements about route 10.222/16 are correct when using the default BGP
advertisement rules? (Choose three)

A. R2 will advertise 10.222/16 to R4 with itself as the next hop.
B. R2 will prepend AS10 when advertising 10.222/16 to R7.
C. R7 will advertise 10.222/16 to R9 with itself as the next hop.
D. R1 will advertise 10 222/16 to R2 with itself as the next hop.
E. R1 will prepend AS10 when advertising 10.222/16 to R2.

Answer: A, B, D

Q6
Exhibit:
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Referring to the exhibit, you want to make ISP1 your preferred connection for inbound and outbound traffic.
Which two steps will accomplish this task? (Choose two.)

A. Create an export policy to prepend the ASN on advertised routes and apply it to the EBGP peer on R1.
B. Create an export policy setting local-preference 200 and next-hop self and apply it to the IBGP peers on R1.
C. Create an export policy to prepend the ASN on advertised routes and apply it to the EBGP peer on R2.
D. Create an export policy setting local-preference 200 and next-hop self and apply it to the IBGP peers on R2.

Answer: B, C

Q7

You are responsible for configuring CoS for your network Your network includes a video application with strict latency
requirements, so that any packets delayed by more than 75 ms are effectively useless. You want to ensure that you do
not waste buffer space. When configuring the scheduler for this application, which feature would you use?

A. exact

B. remainder
C. rate limit
D. temporal

Answer: D

Q8
Exhibit:
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[#dit routing—instances CE-1]

user@rR1f show

protocols |

bgp {
group CE-1 {

type external:
peer—-as 65555;
neighbox 10.1.1.100;

}
}
instance-type vri;
interface ge-0/0/2.0;
route-distinguisher 65512:1;
vrf-target target:65512:100;

[edit routing-instances CE-2]
user@R2F =how
protocola {
bgp {
group CE-2 {
type external;

peer—as 64444;
neighbox 101 5100

}

instance-type wri;
interface ge-0/0/3.0;
her €5512:

)
route-distinguist
[}

N

D=

363

Referring to the exhibit, which two statements are true? (Choose two.)
A. The vrf-target configuration stops routes from being shared between CE-1 and CE-2.
B. The route-distinguisher configuration allows routes to be shared between CE-1 and CE-2.

C. The vrf-target configuration allows routes to be shared between CE-1 and CE-2.
D. The route-distinguisher configuration stops routes from being shared between CE-1 and CE-2.

Answer: A, B

Q9
Exhibit:
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[edit routing-instances CE-AL]
user@PE-1¥# show
instance-type vIf:
interface ge-0/0/9.0:
route-distinguisher 10.222.222.3:22
vrf-target target:65511:101;
protocols |

bap (

One Time!

group CE-AL {
type axcternal :
peer~as 65111;
PE-2 neighbor 192.168.0.2;

}
)

[edit routing-instances CE-A2]
user@PE-2§ show
instance-type vrf:

AS 65 111 interface ge-0/0/9.0:
route-distinguisher 10.222.222.3:2;
yrf-target target:65511:101:
CE-Al CE-A2 || provocois ¢
bgp {

group CE-AZ |
Type external;
peer—as 65111
neighbor 192.168.6.2;

VPN A VPN A )
Site 1 Site 2 )

Referring to the exhibit, hosts in Site 1 and Site 2 are unable to communicate with each other through the Layer 3 VPN.
What is the problem?

A. The two sites are using the same route distinguishes.
B. The two sites are in the same AS.

C. The two sites are using the same instance type.

D. The two sites are using the same route target.

Answer: B

Q10
Exhibit:

Referring to the exhibit, you want to reduce the CPU processing load on PE 2 by preventing the receipt of routes
belonging to Customer B.
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In this scenario, which Layer 3 VPN scaling mechanism provides this functionality?

A. route origin

B. route reflection

C. route target filtering
D. route refresh

Answer: C

Q11
You are configuring a BGP signaled Layer 2 VPN across your MPLS enabled core network.
In this scenario, which statement is correct?

A. You must ensure that all interfaces within the site's configuration are explicitly defined with their remote site identifier
values.

B. This type of VPN requires the support of the 12vpn signaling NLRI on all route reflectors and participating PE
devices.

C. You must use a unique route distinguisher value on all PE devices in your environment.

D. This type of VPN is only supported over LSPs that are using traffic-engineering.

Answer: B

Q12
Exhibit:

user@router> show l2vpn connections

Layer—2 VPN connections: I ‘

Legend for ction status (St) i

EI -— encapsulation invalid N —— iﬁtazfacb encups?latian not
ccc/TCC/VPLS

EM -— encapsulation mismatch WE -~ interface and inat;nce‘ancaps not same
ve-Dn —— Virtual circuit down N — interface hardware not present

CM — control-word mismatch > —— only outbound connection is up

CN -— circuit not prowvisioned <~ -+ anly inMound connection is up

OR —— out of range Up —— operational

O — no putgoing label Dn —— down

ILD —— local site signaled down CF -~ call admission controll failure

RD —— remote site signaled down| 3¢ ——/local and remote site ID collision
IN —— local site not designated 1M —- local site ID not minimum designated
RN -— remote site not designated RM -—- remote site ID not minimum designated
XX —— unknown connection status IL ——|ne 'incoming label

MM -— MTU mismatch MI —— Mesh—-Group ID not available

BEK -— Backup connection 87 -— Standby connection

PP —— Profile parae failure PB —| Frofile busy

RS —— remote site standby 8N -- Static Neighbor

ILB —— Local site not best-site RE -— Remote site not best-aite

VM -— VLAN ID mismatch HS —- Hot-standby Connection

Legend for intexface status

Up —— operational

Dn —— down

Instance: vpn—2&
Edge protection: Not—-Primary
Local site: CE1-2 (2)
connection-site Type St Time lLast o

F 1 il e S 5

-3 CF =rans

Which two statements regarding the output shown in the exhibit are correct? (Choose two.)
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A. The type of connection is remote.

B. The type of connection is local.

C. The PEs have matching control word values.

D. The label associated with this virtual circuit is out of range.

Answer: AC

Q13
Exhibit:

PE-2

'«-‘-lj % CE-A2

T

4k
UF,

i |
di

PE-3

Referring to the exhibit, you need to implement VPLS between CE-A1 and CE-A2 You must ensure that no loops are
created due to the multihoming of the connection from CE-A2 to PE2 and PE3. Based on the type of VPLS, which two
solutions will satisfy this requirement? (Choose two.)

A. In a BGP VPLS, configure a primary and backup neighbor.

B. In an LDP VPLS. configure multihoming and local preference on PE-2 and PE-3
C. In an LDP VPLS, configure a primary and backup neighbor.

D. In a BGP VPLS, configure multihoming and local preference on PE-2 and PE-3.

Answer: C, D

Q14
Exhibit:

=y R1 R2

][ —

s Iy Wy
sl ge-0/0/0.0 Q_[j ge-0/0/1.0 ge-0/0/1.0 \|[
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R1 assigns incoming voice traffic to the ef forwarding class. All other traffic is assigned to the best- effort forwarding
class You have configured a CoS re-write rule on R1 to include the correct CoS bit values in packets sent towards R2
You want R2 to classify traffic using the CoS markings created by R1.
Which two configuration steps are necessary to accomplish this task? (Choose two.)

A. Configure a CoS re-write rule on R2 and assign matching CoS values.

B. Assign the CoS re-write rule to the ge-0/0/1.0 interface on R2.

C. Assign the behavior aggregate classifier to the ge-0/0/1.0 interface on R2.
D. Configure a behavior aggregate classifier on R2.

Answer: B, C

Q15

You must deploy an interprovider VPN option that ensures that the ASBRs do not need to store any VPN routes.
In this scenario, which interprovider VPN option should you choose?

A. option B

B. option A

C. option C

D. option D

Answer: C
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